The contradictory statements are explained by the conservation of mass equation, as follows:
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When r and N1 decreases with chemical remediation agents ，the (2) turns to (3)
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After calculation: in one situation Ni × rl2 - Ni+1 × rl+12 > Rt2 - Rt+12,

the others Rt+12 - Rt2 > 0 and Ni+1 × rl+12 - Ni × rl2 >0

In the formula (1) and (2), M denotes net root biomass; Mt denotes taproot biomass; Rt denotes radius of taproot; Lt denotes length of taproot; t is initial time without treatment. 

In the formula (3), Mt+1 denotes taproot biomass; Rt+1 denotes radius of taproot; Lt+1 denotes length of taproot; t+1 is the time of growing season after treatment. 
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